

④ Формулаи нис итерацияи из Тункарове Т за аравдем:  $x' = \frac{x}{t}$ ,  $x(t_0) = x_0$ ,  $t_0 > 0$

$$F(x,t) = \frac{x}{t}$$

$$x_0(t) \equiv x_0, \quad x_{n+1}(t) := x_0 + \int_{t_0}^t F(x_n(s), s) ds,$$

$$x_1(t) = x_0 + \int_{t_0}^t \frac{x_0(s)}{s} ds = x_0 + (\ln(t) - \ln(t_0)) \cdot x_0$$

$$x_2(t) = x_0 + \int_{t_0}^t \frac{x_1(s)}{s} ds = x_0 + \int_{t_0}^t \frac{x_0(1 - \ln(t_0)) + \ln(s)}{s} ds = x_0 + x_0 \cdot (1 - \ln(t_0)) \cdot (\ln(s)) \Big|_{t_0}^t + x_0 \cdot \int_{t_0}^t \frac{\ln(s)}{s} ds$$

$$= x_0 + x_0(1 - \ln(t_0)) \cdot (\ln(t) - \ln(t_0)) + x_0 \cdot \left( \frac{\ln^2 s}{2} \right) \Big|_{t_0}^t =$$

$$= x_0 + x_0(1 - \ln(t_0)) \cdot (\ln(t) - \ln(t_0)) + \frac{x_0}{2} (\ln^2 t - \ln^2 t_0)$$

$$x_3(t) = x_0 + \int_{t_0}^t \frac{x_2(s)}{s} ds = x_0 + \int_{t_0}^t \frac{x_0 - \ln(t_0) \cdot x_0(1 - \ln(t_0)) - \frac{x_0}{2} \ln^2 t_0}{s} ds + \int_{t_0}^t \frac{x_0(1 - \ln(t_0)) \cdot \ln(s)}{s} ds + \int_{t_0}^t \frac{x_0}{2} \cdot \frac{\ln^2(s)}{s} ds =$$

$$\int \frac{\ln^n s}{s} ds = \int u^n du = \frac{u^{n+1}}{n+1} + C = \frac{(\ln s)^{n+1}}{n+1} + C$$

$$= x_0 + \left( x_0 - \ln(t_0) \cdot x_0(1 - \ln(t_0)) - \frac{x_0}{2} \ln^2(t_0) \right) \cdot (\ln(t) - \ln(t_0)) + x_0(1 - \ln(t_0)) \cdot \frac{1}{2} (\ln^2(t) - \ln^2(t_0)) + \frac{x_0}{2} \cdot \frac{1}{3} \cdot (\ln^3 t - \ln^3 t_0)$$

$$= (x_0 - x_0 \ln t_0 + \frac{1}{2} x_0 \ln^2 t_0 - \frac{1}{6} x_0 \ln^3 t_0) + \ln t (x_0 - x_0 \ln t_0 + \frac{1}{2} x_0 \ln^2 t_0) + \frac{\ln^2 t}{2} (x_0 - x_0 \ln t_0) + \frac{\ln^3 t}{6} x_0$$

интерацияи:  $x_n(t) = x_0 \cdot \sum_{k=0}^n \frac{\ln^k t}{k!} \cdot \sum_{u=0}^{n-k} \frac{(-\ln t_0)^u}{u!} = a_{n-k}$

$$k=0 \rightarrow u=3$$

$$u=1 \rightarrow u=2$$

$$\int \ln^k s \cdot -1 / (n \cdot k+1 + -0 \cdot k+1)$$

- $k=0 \rightarrow u=3$
- $k=1 \rightarrow u=2$
- $k=2 \rightarrow u=1$
- $k=3 \rightarrow u=0$

$$\int_{t_0}^t \frac{\ln^k s}{s} ds = \frac{1}{k+1} (\ln^{k+1} t - \ln^{k+1} t_0)$$

$$\begin{aligned} x_{n+1}(t) &= x_0 + \int_{t_0}^t \frac{x_n(s)}{s} ds = x_0 + x_0 \cdot \int_{t_0}^t \frac{\sum_{k=0}^n \frac{\ln^k s}{k!} \cdot a_{n-k}}{s} ds = x_0 + x_0 \cdot \sum_{k=0}^n \frac{a_{n-k}}{k!} \cdot \frac{1}{k+1} \cdot (\ln^{k+1} t - \ln^{k+1} t_0) \\ &= x_0 + x_0 \cdot \sum_{k=1}^{n+1} \frac{a_{n+1+k}}{k!} \cdot (\ln^k t - \ln^k t_0) \end{aligned}$$

yes  $\ln^k t$  for  $1 \leq k \leq n+1$ :  $\frac{a_{n+1+k}}{k!} \cdot x_0 \checkmark$

moderate case,  $k=0$ :  $x_0 + x_0 \cdot \sum_{k=1}^{n+1} \frac{a_{n+1+k}}{k!} \cdot (-\ln^k t_0) = x_0 - x_0 \cdot \sum_{k=1}^{n+1} \frac{\ln^k t_0}{k!} \cdot \sum_{u=0}^{n+1-k} \frac{(-\ln t_0)^u}{u!}$

yes  $\ln^p t_0$ :  $p=0 \checkmark$

$$n+1 \geq p \geq 1: \sum_{q=1}^p \frac{1}{q!} \cdot \frac{(-1)^{p-q}}{(p-q)!} = \sum_{q=1}^p \frac{(-1)^{p-q}}{p!} \cdot \binom{p}{q} =$$

$\left[ \begin{matrix} \uparrow \\ k=q, u=p-q \end{matrix} \right]$

$$(x+1)^p = \sum_{q=0}^p x^q \cdot \binom{p}{q} = 1 + \sum_{q=1}^p x^q \cdot \binom{p}{q}$$

$$x=-1: 0 = (1-1)^p = 1 + \sum_{q=1}^p (-1)^q \binom{p}{q}$$

$$\Rightarrow \sum_{q=1}^p (-1)^q \binom{p}{q} = -1$$

$$= \frac{(-1)^p}{p!} \cdot \sum_{q=1}^p (-1)^q \binom{p}{q} = \frac{(-1)^p}{p!} \cdot (-1)$$

$$\begin{aligned} & x_0 - x_0 \cdot \sum_{p=1}^{n+1} \ln^p t_0 \cdot \frac{(-1)^p \cdot (-1)}{p!} = x_0 + \sum_{p=1}^{n+1} \frac{(-\ln t_0)^p}{p!} \cdot x_0 \\ &= x_0 \cdot \sum_{p=0}^{n+1} \frac{(-\ln t_0)^p}{p!} \checkmark \end{aligned}$$

Using theorem  $x_n(t)$ ?

$$x_{\infty}(t) = x_0 \cdot \underbrace{\sum_{k=0}^{\infty} \frac{\ln^k t}{k!}}_{\ln t} \cdot \underbrace{\left( \sum_{u=0}^{\infty} \frac{(-\ln t_0)^u}{u!} \right)}_{e^{-\ln t_0}} =$$

$$e^x = \sum_{l=0}^{\infty} \frac{x^l}{l!}$$

$$\underbrace{k=0 \quad \dots}_{e^{k \cdot t}} \quad \underbrace{\quad \quad \quad m=0}_{e^{-k \cdot t}}$$

$$= x_0 \cdot t \cdot \frac{1}{t_0} = \frac{x_0}{t_0} \cdot t$$

$$x' = \left( \frac{x_0}{t_0} t \right)' = \frac{x_0}{t_0} = \frac{\frac{x_0}{t_0} t}{t} = \frac{x}{t}, \quad x(t_0) = \frac{x_0}{t_0} \cdot t_0 = x_0.$$